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Ffoera e foaft astedrm Tt g
A9 =

Ffodtn s 67 Jfma el st e w1 73 |
12+22+22 =32

22432462 =72

324+42+122 =132

42+ 514+ 207 =212

52+ 6%+ 30% =312

62+ 72 + 422 =432

72+ 82+ 562 =57

82+ 92+ 722 =73

9+ 107 + 902= 912

a6 RS FITSIR 107 T AW |
WO : 2+ (n+ 12+ {n(n+1)}>={n(n+1)+1}2
BT FARATGHET (AT CSW F5F T T, (AN,

n? + (2n)? + (2n)? = (3n)?

(2n)? + (3n)? + (6n)? = (7n)* Touif

(3n)? + (4n)? + (12n)? = (13n)? Zejife

n=1,2,3,4,.. Feifas 32t |
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RTICE g2l foqls el wwfEmest avm
ETIENA

R (FF) &7 frur ol it Jmam foafo e
qusfe Al Jeot rt a1 I | (@A :

42+52 +62 =22 +32 +82 =77

52462 +77=12+32+10=110

62+7°+8° =12+22+122=149

72+8°+97=32+42+132 =194

82+97+10°=22+42=152=245

9°+10°+112=22+32+17* =302

100+ 112+ 122 =47 + 52 + 18 = 365

112+ 122+ 132 =32+ 52+ 20 = 434

122+ 132+ 142 =32+ 42 + 222 =509

132+ 142+ 152 =52 + 62 + 232 = 590

142+ 152+ 16° = 4* + 6* + 252 = 677

152+ 16% + 172+ =4*+ 52 +27* =770

162+17° + 182 =62+ 7° + 282 = 869

172+ 182 +19 =52+ 72+ 30> =974

182+ 19* + 20% = 52 + 6° + 322 = 1085

192420 +21° =72 + 82 + 332 = 1202

202 +212+222 =62+ 8>+ 352 =1325

212 +222+232 =62+ 72+ 37° = 1454

222 +232+ 24 =82+ 92 + 382 = 1589

232424 + 252 =7+ 92 + 40* = 1730

24+ 252 +26° =7+ 8%+ 422 = 1877

7 3% FonFR g Py wE /AW R 30 TR
ApTef T IR AR AT TE ST T AW @ TR
oo T g <ifg : I e 9T AT 4 9T 2 94 TR TN
farea ot st 8.

A7TS! fEATs 2 94 (AT 9T TN ST “Aa foafors 2 e (= 2
I R | AfS oAl Tk @I et (W) @ el St @@
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97 2 @4 (AT 6 I R | T free 1 weief (8, 9) vk
PR | A T I WBH @ 7AW Iyl (Aeifeg |

257 +26°+277 =97+ 10+ 43%, (25x2-7=43)

26% +27% + 282 = 82 + 10% + 457

272+ 282 + 292 = 82 + 9% + 47*

287 +29%+ 302 =10+ 112 +482, (28 x2 - 8 - 48)

292 +30% + 312 =9+ 112 + 50?

30°+312+322 =97+ 10"+ 52

FFSfe AP PR I G S15H Il T A e— TR T A
Y (@G @I @Feod (AR foall s itea oy etarey R | AT R
(I, AT TR I G 459 FeafE | A 7@

Gn+1)2+@n+2)2+Gn+3P2=(+ 1)+ @ +2)*+(5n+
3)2

(Bn+2)2+ Bn+ 32+ (3n+ 42 =n2+ (n+2)2+ (5n+ 5)?

(Bn+22+(Bn+4)2+@Bn+5P2=n+(n+ 1)+ (5n + 7)

n=1,2,3, @ I FTA T I3 41 I |

n=12 Q@ 12 O F T [T I TN |

372+ 382+ 392 = 132 + 142 + 632 = 4334

382+ 392 + 402 = 122 + 142 + 65% = 4565

392 + 407 + 412 = 122 + 132 + 672 = 4802
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525, 6406, 12321, 13031, 87755778

333, 22,1001, 717717

Palindrome: a word or phrase that reads the same
backwards a s forwardsm, for example, madam on nurses run
(Oxford Advanced Leamer;s dictionary-A.S. Homby)

Palindrome: a word, verse or sentence (as “Able was I ere [
saw Elba") that reads the same backward or forward (Webster's
seventh new collegiate dictionary)

AT WA ©F s @ I o (A TerEm @ = I3 W
AT (ST (FIA! *TH, IFFIHE TF 1 AW Td (ITF AT 932 27 |

2 SR W QL W i, am fWfe, os, A1 s, Bt fafe,
fafa, fafar, siot

foq srvg =% 0w, <A, AT, AEF, A9Q, AR, TN, T4,

POP, DAD, TAT, TOT, TIT, EYE, BOB, NUN, GAG,
PUP

59 w4 : DEED, NOON, PEEP

51$3 321, Madam.
sfifemifie et f[Ferng 42 goe- ©f ¢eifoz |
o 112=121 117 =1331
1112 =12321 111° = 1367631
11112= 1234321 11% = 14641
111117 = 12345421 2022 = 40804

111111% =12345654321 2122 =44944
11111112=1234567654321 11111111%=12345678765321
LI11111112=12345678987654321 307* = 94249

e 142857 x 7=999 999 37x3=111
76923 x 13 =999 999 37037 x3=111111
8547 x 13 =111 111 15873 x 7=111111

12345679 x 9 =111 111111
A



65359477124183 x 17=111 111111 111 111 1
142857143 x 7 =100000001

5882453 x 17 = 100000001

G WG WS AN FIRIE A AR |

e 1012 =10201

101012 =102030201

1010101% = 1020304030201

1011001012 = 1020304050403020 | ‘73fG | =43 =12t 07 |
101010...1012 = 10203...0809080...30201 (73 ‘1°) Toyim
® 12345679 x9=111111111

1122334455667789 x 9=10101010101010101
111222333444555666777889 x 9
=1001001001001001001001001
11112222333344445555666677778889 x 9
=100010001000100010001000100010001
1111122222333334444455555666667777788889 x 9

= 10000100001000010000100001000010000100001
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o W2 WEFA M wmefam @iswa 10 T ©iE 99, 999, 9999

3orif% aIdl ©9 S SAT ATFRGIS FL 77 |

19 x99 1881 19 x 999 = 18981
28 x99 =2772 28 x 999 = 27972
37 x99 = 3603 37x 999 = 36963
46 x 99 = 4554 46 x 999 = 45954
55 x 99 = 5445 55 x 999 = 54945
64 x 99 = 06330 64 x 999 = 63936

o “nfeugfs Gifers syt 11, 101, 131, 151, 181, 191, 313,

353,373, 383, 727,757,787, 797, 919, 929

MifFgEe 7 o tofd $a I 7 TE SEna I

I FAAMNE BB 4 @ A@ A2 o [ReAds eyt e 4fq |
(A FARATE A% ©fF A FRT (@t I (@ AT A3, AR O
AF O1F RIS AR @I I (T A2 TA- AT TS I (AT
AT SApifer@ifiE eyt AT |
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@ 49, 67, Radte w2 76,

67 + 76 = 143, ST 143 @3 3ex R A @it 3@ 413,
143 + 341 = 484, ‘484’ “mfFmmitie 7371 | 2R @ I3 R 7o
I TSTL CofeT |

i 93fG Twrzae ffvz 1 «f9, 78

78 + 87 =165 > 165+ 561 =726 + 627 = 1363 —> 1353 +
3531 = 4884; 40 dqueq AT ANSA (T | (LT (TR, G2 WCHFA AR
THefe T 10’ 97 TN A GIAT @AY FIER g wg
oNeTq I |

@q:12+21+33,34+43=77,53 +35=388;

W2 WET R AR B ‘9° w3 @ 2@ @3 It wFifiT e
g At AveT AW | FEE: wERES e ‘13

49+ 94 =143 — 143 + 341 =484

58 +85=143 — 143+ 341 =484

QLR B ‘15" :

69+96 =165 > 165+ 561 =726 > 726 + 627 = 1353 >
1353 + 3531 = 4884

EeEE TR 17 =@ Wt 4o TR 89, 981 AR (I
A ARt T @R A AW AT 240 dFeT 49 13 wwwd
‘8813200023188’ a3 fawfa careet

IS o WTHT TRATT Twigget fafoz |

351 + 153 + =504 — 504 + 405 = 909;

457 +754=1211 - 1211 + 1121 = 2332

854 +458 = 1312 > 1312 + 2131 = 3443

967 + 769 = 1736 — 1736 + 6371 = 8107 — 8107 + 7018
=15125 - 15125 + 52151 = 67276
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391 s7ent St caemt

(A RS AT T (AT ATET (@ AT ANB Of 27 @ AR
fastre AT (reversed number) | RS FRMS fBoidtE AR I=CS
“Nf3 | feorifer (somersault) ¥ I fosraifer syt =11 % |

@ua: 25 — 52, 563 — 365, JEE (FE (S T| A I |
THTOIR FTCe- Too1 AR 20 A |

o e Giifers: 11 — 11,13 -5 31,17 > 71,37 — 73, 79
— 97, 101 - 101, 107 —» 701, 113 — 131, 157 - 751, 167 —
761, 179 — 971, 181 — 181, 191 — 191, 337 —> 733, 347 >
743, 353, 359 — 953, 373, 383, 389 — 983, 709 — 907, 727,
739 — 937, 757, 769 — 967, 787, 797, 919, 929,

e 123456789 x 8 + 9 =987654321

o TAFC AN Wig ©Iwa 3f FICE (@ A ABZ- 1% N
aeferq (@istwe e A 2T |

812 = 6561 6+5+6+1=18
912 = 8281 8+2+8+1=19

o TfSoT FRTT GTHCTa ARGETd @l Fa0 [{oAq® 7y = )
53°= 148877 1+4+8+8+7+7 =35
72% = 373248 3+7+3+2+4+8=27
82°= 551368 5+5+1+3+6+8=28
62°= 238328 2+3+8+3+2+8=26
81°= 531441 5+3+1+4+4+1=18

o TfS AT (AT T T, @I gW O o4 |
9+9=18 9x9=81

24 +3=27 24x3="72

47 +2 =49 47 x2=94

497 + 2 =499 497 x 2 = 994

o Rl BBICA, I I8 T

122 = 144 212 = 441

132=169 312 =961

1122 = 12544 2112 = 44521

1132 = 12769 3112 =96721

1222 = 14884 2212 = 48841

sifers fae weme (e - ¢ be



11122 =1236544 21112=4456321

e 1022 = 10404 2012 =40401

1002% = 1004004 20017 = 4004001

100022 = 100040004 200012 = 400040001 s
e 1032 =10609 301% = 90601

10032 = 1006009 3001% = 9006001

100032 = 100060009 300012 =9006001
o @] 8 G THICE, QTG T
312 x 221 =68952 213 x 122 =25986
2618 x 11 =28798 8162 x 11 = 89782
263542 x 11 = 2898962 245362 x 11 = 2698982
o 9 T QeI Ml f[Idte e il g (1Anfo o T17)
1089 x 9 =9801 10999989 x 9 = 98999901
10989 x 9 = 98901 109999989 x 9 = 989999901
109989 x 9 = 989901 1099999989 x 9 = 9899999901
109989 x 9 =9899901 10999999989 x = 98999999901
Tonifa

e 13 38 31 O MKy &R FF TS A6 AW |
132=169 — 961 =312
169 =32+4%+12?
961 =62+ 14>+ 27> =062+ 212 +222= 142+ 18% + 212
169 =12+22+ 82+ 102 =22+ 42+ 72 + 10
961 =22 + 52 162 + 262 = 22 + 142 + 192 + 207

=42+ 82+ 162+ 25 =42+ 10 + 132 + 26°

=4+ 102+ 1924222 = 42+ 162 + 172 + 26

=524 824 1424262 = 52+ 142 + 162 + 227

=82+ 102+ 1124262 = 102+ 112 + 162 + 222

=324+ 42462 + 302 =32 + 122 + 182 + 22

=424+ 122+ 152+ 242 = 52+ 62 + 182 + 242
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= 999), 499995, (4 + 5 = 9)

coNeet AR Ndtam o=t

02 AT 936 @By SR | @3 RS foaft Seeet Sist 41 707 |
LTI LA B (*F SN T (TN FAC IO WL (I CER AN
7 ) (q94:

495,(4+5=9), 36063, (3 + 3 =0), 5137772064, (513 + 264
=777), 21333312, (21 + 12 = 33), 123999999876, (123 + 876

1923 f355itx wagial A6y FAEII (SUCET AN NTFRX IR |
fefa “Wonders of Wonderful Demlo Number' a2 335 =1t3¥ |
CoaT! Sl 5 Sia 3R 2w ol |eEsA TR |

99 x 2 =198

999 x 3 =2997
9999 x 4 =39996
99 x2 =198

99 x 3 =297

99 x 4 =396

999 x 2 =1998
999 x 3 =2997
999 x 4 =3996
9999 x 2 =19998
9999 x 3 =29997
9999 x 4 = 39998

9999 x 5 = 499995
999999 x 6 = 5999994 Zwyif

99 x 5 =495
99 x 6 = 594 Tojifn

999 x 5 =4995
999 x 6 = 5994 Twifn

9999 x 5 = 49995
9999 x 6 = 59994 Twjifv



frereyet fAdtan et

(I 7R T© 7 OISy ©f IF I AN AT Z0F AT | 92
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@ A T faw Retey o o gl Gt < 7w s o1 |
IR R 2, 3, 5,6,7,8,9,10, 11, 12, 13 =&t @A 279
fTeigret fAda Tare «4fs | @:

2 =3l [olw (@ AR (W 9F (9FF) 277 9 3o 7 T (2, 4, 6, 8)
A 2 At [y 23

R &R AT (9 e 33

10°a + 10%b +10°c + 10%d + 10e +/ 200 = SC&A AT

10°a +10°b + 10°c + 10d + 10e + f

2

= 50000a + 5000b + 500c + 50d + Se +£

e 3 i Reeyet  FAet smefag e 3 v ooy 2@
TG 3 =t fIstey 23 |
10%°a + 10*b + 10°c + 102d + 10e + f
3

+b+c+d+e+
=33333a + 3333b + 333c + 33d + 3e + 2 b c3d e+f
o 4 w3l fsteyst  ARIMEDI (1w ¥3 WEd WA (W, uFT) 4
a1 fRreten et SRt 4 7 ey 2 |
10% + 10*% + 10°%c + 10% + 10c + f
4

10e +

=25000a + 2500b + 250c + 25d + ‘T‘z

o 5 9l RRoreyst AW o &% 5 A 5 A FWAEAG 5
w3t ferey = |
10°a + 10%b + 10°c + 102d + 10e + f
5

=20000a + 200b + 200c + 20d + 2e + ‘SZ
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Fefewa fagres fonk fdtaa o

sferma = 3o @ 3@ fagem 7w [{dy w0 1w 9o
Isfevm@z 96 oF ot sae g fagm N2 4% 1 At ot faew 1@
A A% AT fags 415 1 4R, ABCD @36 3sftsa | AC s BD

5 ‘O’ fI™rs (=2n e |
w33 fags : AAOB, ABOC, ACOD, ADOA 4
A B

D C

Ao 26 fage wge 2 e 4 fagw 1| AAOB + ABOC =
AABC + ACOD = ABCD, ACOD + ADOA = ACDA, ADOA +
AAOB = ADAB

w12 gt fage w1gE: AABC, ABCD, ACDA, ADAB : 4f5 |

TG fags (4 + 4) = 8%

Ioforars g 8 &3 IARI RIS [eom 3 fagrem R e
T |

IR QARSI ST o fagew R wielg | TRefre
AN T I YT [AER G N IR @2 AR T
fargrem TR fcfeaa e 157 w3f% |
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1. fRore™ @3fo n =1

933 faew 4%

2f6 fargw wegw 4%

i fargs (4 + 4)% = 8% |

2. % 8 &% IR 2% fsiem, n =2
4T3 fagw 16/

2f6 fage w1y® 16

8 fags wege 4%

CiG fags (16 + 16 + 8 + 4)f6 = 44 |

3. 9 @ &% 39193 36 f[Aetem, n =3

a3 fage : 3610
2f6 fage wg® : 36/
4% fags Hgs : 246
8% fagw AgE 16/
9t fagm A g& : 8f6

18 fags #g® : 4f6
o fag®m (36 + 36 + 24 + 16 + 8 + 4)6 = 124

qo



4. g 8 97 IR 4% fored, n =4

a3 fags 64%
215 fage wge 641
4% fagw g 48
8f% fagw ge 36f6
oft fagw yw : 246
16/ faegw sigw 12f6
18f6 fags g 16/

32fb fage sgw 4%
G fags (64 +64+48+36+24+ 12+ 16+ 4)%
=268 |

P



5. 7 @ &7 33199 56 fAsieE, n=5

«3T3 fagm 100f6
26 fagw g 1001
4% fargm g 80f%
8% fagm Jgw : 6415
oft fagw #yw : 48f5
16/ fagw 71 32

18f% fagw wg@ 36f%

250 fauw g 1216

32 fags #gw 16/

50f fages wge : 4f5
G fargs : (100 + 100+ 80+ 64 + 48 + 32+ 36+ 12+ 16 +4)
5

=492f5 |
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aT3 fags

2% fagw e
45 fagm Ay
8% fagw egw
oft fagw e
16 fagw 7ge
18f% fage sgs
25f% fagem sigs
325 fags Jgw
36f fagm 1w
491 fags ey
50f% fags s

5,...

2,4,0,...

e fagw [ftrm @

iy @ & IWIRE n ARF o o Ags fagree e )

: 4n?

: 4n?
:4n(n-1)
:4(n-1)
:4(n- 1)(n-2)

4(n- 1)(n-13)
4(n 2)?

:4(n-2(n-4)
:4(n-3)?

4(n-2)(n-5)
4(n- 3)(n - 6)

:4(n—4)*
m’ﬁﬁaﬁﬁﬁa’i@?w{n—

4 {n -

g_m_—l_)} fn—(m-1)} m=FAm= 1,3,

(m-1)
2

64 B fage wegs
72 5 fage e
815 fage seyw

985 fags gw

1000 fage segw
12115 fags s
128 fagw Fg®
1447 fagw 1yw
16215 fags #ogw
169 fags Agw
1965 fags Fge
200 fagw e

4(n-3)(n--7)
4 (n-5)
4(n—4)(n-28)
4(n-6)?
4(n-4)(n-9)
4(n - 5)(n-10)
4 (n-7)*
4(n-S5)n-11)
4(n - 8)?
:4(n—6)(n-12)
:4(n-6)(n-13)
:4(n — 9)?

} fn-(m-1)} m P, m=

2m? b fags #ge 4{n-(m-1)}?m=1,23,4,.n
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POQE, QORH, ROSF, SOPG
9% vl o 3ftwmm @R |

4% w3z frra gw : 16
EHFG
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i afesa 4+1)B=5%

3. 47 @ &g 3aka 36 Retsa n =3
WP fera: (2+4+4+2)FB =120
4f6 fera wgw : (1 +3 + 1) B =56
I Fofewa : (12+5) 6 =17%

4. Wss-eig <a1aa 4% Rerem b = 4
GFIfeva: (2+4+6+6+4+2) =24
A IferawgE: (1 +3+5+3+1)6=13%
166 3sfrwa segw : 16

e Asfewa : (24 + 13 +4 + 1) B =425
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2. iR o <ot 101 s 0 75 e 0w 1 o2 x Ffes
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